1)

10.8

7.5

8.75

11.12

8

36

10,000

49
1x100+7x10+6x1+
2x1/10+1x1/00

6 x1/10 + 8 x 1/100 + 5 x 1/1000
4x1+5x1/10

1.2 _ 3 4
48" 1216
5 10 _15 _20

wl= sl p=
+

75.25 +1.75 = 77"
12 + 6 = 2 spoiled applés
12 - 2 =10 good apples

4E
1)
2)
3)
4)
5)
6)
8)
9)
10)

11)

12)
13)
14)
15)

16)

17)
18)

19)

20)

11.0

7.4

12.32

8.24

81

25

p

1,000

4><1O1+3><100+3x—11—

10

6x100+1><-1—1+5>< 13
10 10

2><102+3><L1+4><L2
10 10

1_2_3_4

24768

9 _18_27_36

10 "20 30 _ 40

1.,1_2_ 9 _11

9 2 18 "18 " 18

2,5_12 25 37 41

5*6°30 30 " 30 " '30

1,2_3,20_28

70 73730 730 ~ 30

5+.25=.75

9.5+ 11.6=21.1

2,1_10_ 3 _13

375715715 71

30+15=2;2x13=26

4F

1)
2)
3)
5)
6)
7)
8)

10)
11)

12)
13)
14)

15)

16)
17)

18)

19)

20)

9.9
11.1
14.63
6.12
64
1
64
81
9,500.1
158.004

9”45 "45 " 45
1

$2.25 + $1.69 = $3.94
$4.00 + $2.50 + $8.35 = $14.85

I R g

3~ 2422 " 24’
27:9=33x5=15

1
3.1_9 8 _17.
8 no

5A
1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)
15)
16)
17)
18)

done

13.9

.89

12.4

1.1

2.6.

14.17

2.18

1.4.

8.7

3.98

2.72

$7.17 - $2.98 = $4.19
5.75-15=4.25

150 - 4.5 -145.5 Ibs.
15.15-4.29 = 10.86
10.2-.7=9.5

$10.50 - $4.79 = $5.71

VS - @y suonnjog




5B
1)
2)
3)
4)
5)
6)
7)
8)
9)
10)
11)
12)
13)
14)
15)
16)
17)
18)

8.0
2.8
2.67
5.08

8.2

3.25

3.69

7

4.4

.487

.262

$11.00 - $5.75 = $5.25
$3.50 - $2.45 = $1.05
85-76=.9
11-45=6.5mi.

12.4 - 2.375 = 10.025 years
2.1-.16 = 1.94 inches

10)
11)
12)
13)
14)
15)
16)
17)
18)

b

6.6

1.2

7.33

3.09

5.7

.9

2.97

.23

8.7

1.1

.406

.289

$225.00 - $94.76 = $130.24
$10.00 - $7.45 = $2.55
6.7-43=24

$20.00 - $16.25 = $3.75
31-75=285

45.6 - 6.5 =391

e

5D
1)
2)
3)
4)
5)
6)

7)
8)
9)
10)
11)

12)

17)

18)

T — e p——
5E
3 1)
8.56 2)
.005 3)
1.01 4)
8 5)
6.825 6)
1.4_5
6766 7
2.1 _20. 9 _29
9770 "90 90 " 90 8
2.3_16 15 _31
587240 "20 " 40 2
1x1,000+3x100+4x% 10)
1 1 1
‘l><1+9><10+7x100+8x1’000 11)
done 12)
2 _1_8 3 _5
37412 12 12 )
5 3_35 18 17
67 40 40" 4D iy
10.25-9.75= 5
$15.00 + $21.75 = $36.75 15)
$36.75 - $31.99 = $4.76 16)
2_1_12_3_9 _1 17)
376 18 18 18 2
21 = % they got the same amount 18)
19)
20)

e
5.46
6.14
1.635
8.1
4.939
32.056
1.7_9 .56 _65
8t9 72772772
4,2 _44 10 _54
5 11 55 55 55
1.,1_4 _ 3 _7
3 4T 1212712
210" +8x10° +7 x =+ 8 x—L

10 10

2 x104
8_5_3_1
9 9 9 3
4 1_8 5 _3
5 2 10 10 10
7 _1_42 10 382 _8
10 6 60 60 60 15
7.5-5.25 =2.25 cups
9+1.25+.3+.5=2.95miles
4.5 + 13.2 = 17.7 inches cut off
24 -17.7 = 6.3 inches left
10 _ 1
100 10
100+10=10; 10 x 5 = 50¢
2.1_4 .5 _29
5+2—10+10 10ofthemaregone
1009 _ 1 i
10710 108'[I||0nthe]0b
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